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4 fREERF

F4 RERERVHEEPESE—ER
(ERZ304E10H 1 HEIALE)

UREERSEVE
BEZ wawr [0 7| #ook [ Bea | w9 | mes
— AEPA | KIE | FBK | BEB&E | KEFE | DA
F7E#h
6-2-5 | 3-29-2 | 3-42-4 | 3-18-7 | 5-40-15 | 5-40-21
L | m 210.64 | 269.15| 81.20 | 83.73 | 189.30 | 94.27
SEREAR s58.2 | s61.10| s61.8 H3.5 H5. 5 H12.4
MES B
BNV Zyh— 8 10 134
(1%5=6 fE x20 &) B 1,200 | 16,080
oI9S h— E<] 172
(1 FE=140 B) B 24, 080
HhheOTER ] 25
(17850 8) B 1, 250
Ehip a8 8
(17850 8) B 400
OF 21— (FHE) 7 15 15 94 15
1F=6EH X208 B 1, 800 1,800 | 11,280 1, 800
UFa—(FFV) 7 15 15 93 15
1F=6HE X208 B 1, 800 1,800 | 11,160 1, 800
7K (1.52) .
. # 85 160 85 85 85 85
A (500mf) 1 45=24 7 2,040 | 3,840 2,040 2040 2,040] 2, 040
T (10 kg) i3 2 3 2
B18 (1 ke) ke 25 56 5
ZEXvURIL 8 13 9 4 114 10
(1FE12EAN) & 156 108 48 1, 368 120
z£0O0—-Y7) & 4
(1%860AXA) X 240
a—vy% 7. 550 100
HWELUA 7N 824
Bz23HE 1& 720
SO FTA+ & 3 17 3
~YRSUT & 15 90
7Tt (8 3) A 88 28
YT 5 40 30 100 40 180 40
AR 150
(%)
Ef X
(#5) 707 40 1, 470 520 1,120 400
g4 " 83 65 210 265
<k " 150 1, 500 700 320
B s
F— ek (%)
X 1, 500
(%) ’
REKRE 75 3, 000
AL e 2,460 | 4,000 1,000 | 2,000 22,500 3,000
RUINTY & 59 144 20
#R7K %% (30) £ 3, 550 1, 800 900 800
#Rk& (100) S 2, 465
#R7k%E (200) S 50 400 150 400 300
WK1t fEEH H 5 4 12 1
B 2t $AKkiE =
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4 fREERF

BEZ wawr (207 | #ook [ Bea | w9 | mes
IO UR T %K =) 1 1 1 1 1 1
REEEYM(FSHE) 1& 52 12 15
TFAvaR—/8— E<] 290 1 170 60 30
a7 & 8,000 | 58,000 | 8,000| 8,000 40,000 20,000
#RI 54 600 1, 000 1, 000
AT—> P 10, 000 3, 000
HIDE S fig 10, 000 | 25,000 | 10,000 | 10,000 | 10,000 | 20,000
7 & 30
Z A58 (900) ® 200 100 200 100 200 100
B AER & 20 12
{E 2R FAIRsh 2= S 200 60, 480 1,800 | 10,080
H=HA—T (EShAL) 1& 99 2
Y ZA—THARTR En 55,080 | 16, 680 600 | 8,100
TUR—ILE ML = 7
IURk—ILBIN L - T UMk () #H
IUR—ILBINA L - TRk (K) #H
#HIL SRR () =) 3 2 4
#HIL S AEER (K) =) 4 1 7
A ER (&) =) 2 2
HHENLUBATU ik
R LykR—/3— [ 5
(1%g480—)L) —JL 240
TR iR 3
TR iR 5
TUNHEEBE = 2
JUAYFRTUN iR 5
I7—KF—LTUk ik
B EaEEF = 2 2 2 2
)N h— = 1 10 2 1 9 3
LAFa1—Hh— = 6 8 1 2 3
BB NIL—) = 2
AN TA) = 1
B (L) =) 5
Rt (E - R E) = 5
B FAFRER =) 5
B FARBERE (HEvbRoN) 7 40
FEHE 1 1
_#® =i X 2 1 2
= i NnNasy = 1 1 1 1
a—FkyY—JL 1 1 1 1 2
. IN—F— 3 1 3 1
’g /|\ §§ FEH @ 1 2 2
£+ L | (Tsm00) " 1
| A a—kyY—JL 4 1 2
£ = 2 2
mEHLATL—+ =) 4
RELLOEYR = 1 2 1
RHE LA PP & ] 13,400 | 36, 000 36,000 | 32,000
E SO | ] 613 20
AV REE (1) & 30 30 30 30
FAIL(12) i 39 5 2 2 2 2
#ETA RO & 20 68 40 20
arOfERUA X 60 96 120 60
=AM " 2, 560
5L & 32 12 60 180 60
FHASLD 54 3, 584 500
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4 HEBAR

aE g AR—Y 2z 25

SE4 j=3-i) Y TEK | BEBA =7 BEIR
AKABEBTD " 500
H£EAM 1& 2,000 | 15, 080
{828 za 1 4 2 2
RN EER £
HEARNYR = 7 3 10
AJLAYR & 15 15 15 15 15 14
BF s 156
rI5—F% pad 220 100
FHEE< XY &
BhK—bk " 200 365 200 100 350 200
N & 2 9 2 2
v (Tt) a 1
Sy (4t) = 4
N—)L . 6 5
2ayT X 7 5
DZEY (BFHHAK) 7N 7 3
DIEY (Hrid=) 7 2
RILED ) wsS— N 6 5
A—7(20m) x 10 28 10 10 10
a—27 (10m) A 10 26 10 10 10
INFR BB (FRER) & 2
BH =) 2 9 2 1 9 2
BRI =) 15 2
pAEE 1@ 100 969 200 200 300 200
R—O—XEFEER & 30
E-—)L& " 200
E-_—ILF% #H 500
B E (XHEKX) 1& 50 12
A A(=EF 35 £F)) #H 10
Ny " 10
nCA a8 9
NUR)TR = 2
HhFr T3 X
XIFERHEE B (Va—rILYR)(100 B) 8 191
XIRERHEFERH(EB)(100 B) 7 200
XIFERHEFERH (BX) (50 B) 7
XIREREFEH (OO (50 B) & 12
XIREREFEEH (hHMOITER) (100 B) &
XIFERHEE R (B) (50 B) 7 20
XIFERHEEFEER (BXI/VHIRA) - 19
(50 &) #
XEVITUR iR 2
X B HEANE (M) & 400
X BHE (L) & 430
X EAE (M) & 200
XN (L) & 200
L F3 = 9 7
QX EHKE ik 3
OV -=-#EA a
[ iR 7 2

KL, WS OEFEWE

@& L. HFRMNDDEFEME
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L XL 33
BEL snom | soaoe| EEm | B | ER | A
_ BEBR& | K& &H AEA | ANB | L _
PR i 1-1920 | 2-2 | 1-16-21| 5-7-19 | 4-15-14 BE 1A
mE m 164.00 | 140.00| 108.13| 87.48 88.96 | 1,516. 86
SEREAR H21.4 | H21.9 | HIL.10 | H27.3 H28. 4
MES B
YAV D5yh— 8 144
(1%5=6 fE x20 &) B 17, 280
oI9S h— ] 172
(1 FE=140 B) B 24, 080
HhheOTER 7 25
(1750 8) B 1, 250
BN 7 8
(1#50 &) B 400
Fa— (%) & 139
158=61Ex208 B 16, 630
UFa—(FFV) 7 138
158=61fE X208 B 16, 560
7K (1.52) X 24 24
. # 85 85 85 336 1,176
A (500m0) 1 45=24 & 7 2,040 | 2,040 2,040| 8,064 28, 224
T (10 kg) i3 2 9
B8 (1 ke) kg 72 158
ZEXvURIL ] 150
(1FE12EAN) & 1, 800
z£0O0—-Y7) & 4
(1%860AXA) X 240
a—vy i 650
HWEL VA P 824
Bz23HE & 720
SO FTAE & 23
~NyRSUT 1& 105
7Tt (8 3) w 180 296
TYF ] 36 466
AR 330 480
(%)
Ef X
() 2,000 | 3,350 130 280 10,017
g4 " 65 100 788
<k " 60 2,730
REW X 1, 500 1, 500
F— ek (%)
X
() 1,250 | 2, 760 5,510
REKE 34 3, 000
274U " 34, 960
RN & 157 380
#R7K %% (30) £ 120 7,170
#Rk&E (100) £ 2, 465
#RIk%E (200) ] 12 1,312
WK 1tfBE Y = 22
BHHE 2t FAKiE = 11 11
IUDURTHKES a 1 1 8
AEEYMTESHE) & 79
TAyarR—/— 55 551
i b & 2,000 144, 000
#RI 54 2, 000 4,600
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4 HEBAR
a BF o S X .

B4 snom | soaoe| EEm | B | ER | A
AT—> X 1, 500 14, 500
=IDE S fiE 5, 000 90, 000
7 8 30
Z A5 (900) " 900
B AER 1& 11 43
{F 2R FRIRsh = £ 500 73, 060
H—A—T (BSkAL) &l 101
HZA—T HRARTE r® 30 80, 490
TUR—ILE N L = 12 19
IUR— VBN LTy () #H 6 6
IUR—ILBIRA LTy (K) #H 1 1
#HIL SCEER () a 9
#HI X (ERR (K = 1 13
B ER (&) =) 4
HENLUBATU iR 16 16
Ly R—/3— E<] 5
(13848 0—)L) o—JL 120 360
TR iR 3
TR iR 5
TUNHEBE a8 2
Doy FHTUR iR 10 15
I7—R—LTk iR 100 100
B EEEF a 8
1) hHh— = 1 27
LAF¥a—Hh— = 1 21
BB GNIL—) a 2 4
AN TA) = 2 3
BB (L) = 5 10
It (E B =RTE) = 5 10
BHFAFRERE = 6 11
B FRARBERE (HEvbRoN) 7 40 80
FEEN 10 7 19
_#® =l % 10 3 18
= g NOFY * 10 3 17
a—kyY—JL 10 6 10 32
Ny IN—F— 1 9
v\ [zEm o ] 5
£+ L [ TG00 " 1 2
R4 =y Ty 1 8
S = 1 5
mEHLATL—k a 1 5
RELL OV = 2 4 10
RHELA PP & ] 18, 000 135, 400
E SO | ] 633
AV REE(19) fin 30 30 180
FAIL(12) & 18 70
#ITARavO & 14 162
aVORARAR P 60 396
=fAm " 445 3, 005
6L X 50 394
FHASLD 54 4,084
RKANRABLD " 500
HIERA & 17, 080
{828 ze 4 13
RN EER £ 22 22
HERANYR =) 8 28
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4 fREERF

& | B AT . X =
BEA snom | soaoe| EEm | B | ER | A

AJLAYR & 15 104
BF N 80 236
TI5—F% N 320
FHEE<RY & 2,000 2, 000
Bk —bk 54 80 1,495
L2 & 15
Sy (Tt) a8 1
Sy (4t) a 6 10
N—JL w 11
2ayF P 6 18
DOZEY (BEHK) S 10
DZEY (Hrirx) 7 2
RILED ) wrS— PN 11
A—7(20m) A 4 72
A—7 (10m) X 5 71
INFR BB (FRER) & 60 62
BH = 4 29
R =) 2 19
pAEE & 1, 969
R—O—XEEER & 30
E-—)L& " 200
E-_—ILF% #H 500
BiE (XRERX) 1& 671 733
vy (B F-HF-#) #H 10
INLybk " 10
nNCE =) 9
NURTR = 2
hFrTa A 60 60
XiRERHEFER C3—rILyR)(100 B) 7 30 30 251
XIFERHEFERH(EB)(100 B) b 200 400
XIRERHEFERH (BX) (50 B) & 20 20
XIRERHEFEHR (OO (50 B) 5 50 62
XIREREEFEEH (HhHMOTER) (100 B) 5 50 50
XIRERHEERH (B (60 B) ] 80 100
XIFEREEFEER (BXI/VHIRRA) -

(50 &) ™ 12
XEVITUR iR 2
B HEANE (M) & 400
X BHE (L) & 430
X EE (M) & 200
M MERNIE (L) & 200
L E a 16
QX EHMKE iR 3
@Y =-1-#EH a 8 8
[ iR 9

KB L, WS DEFEWE

@& L. HFRMNDDEFEME
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4 HEBAR
g EEt 4 —REHFEME
g EEIE2—4 BNl | KR | RE | 88 | & mRE | #8:F | #R | BiA | &&f
S~ MR F8 | KR |Ba&| &8 | AE | 8:F | FEHA| AR ERA EJr_
2-18-18| 1-4-3 | 1-5-17|3-4-11] 7-1-2 | 1-20-8] 2-20-7| 3-2-6 |3-22-4| 9/ FR
MES By
HhhoOZIFA & 2 2 2 2 2 2 2 2 2 18
155=50 & B 100 100 100 100 100 100 100 100 100 900
SFa— 8 1 1 1 1 1 1 1 1 1 9
1f5=6EX208. B 120 120 120 120 120 120 120 120 120 | 1,080
7k(1.5L) S 40 40 40 40 40 40 40 40 40 360
Pkl = 2 2 2 2 2 2 2 2 2 18
LED JEE LT = 1 1 1 1 1 1 1 1 1 9
BEM(E=) S 100 100 100 100 100 100 100 100 100 900
FE 1 1 1 1 1 1 1 1 1 9
w = 1 1 1 1 1 1 1 1 1 9
&ﬂ% IN=L = 1 1 1 1 1 1 1 1 1 9
_Et :_PIJ_
W 1 1 1 1 1 1 1 1 1 9
LED | &K 1 1 1 1 1 1 1 1 1 9
&jﬁg T = 1 1 1 1 1 1 1 1 1 9
—=
Ao REE(100) fin 1 1 1 1 1 1 1 1 1 9
AV REE (1) bin 2 2 2 3 2 2 2 2 3 20
FAIL(12) = 2 2 2 2 2 2 2 2 2 18
AV ETE(E) i} 1 1 1 1 1 1 1 1 1 9
fizmkfL Tk 2 2 2 2 2 2 2 2 2 18
kgL 22F
fEL " 140 140 140 140 140 140 140 140 140 || 1, 260
e " 15 15 15 15 15 15 15 15 15 135
EM 754 5 5 5 5 5 5 5 5 5 45
AJLAYR & 10 10 10 10 10 10 10 10 10 90
L2 =) 2 2 2 2 2 2 2 2 2 18
N—JL X 3 3 3 3 3 3 3 3 3 27
2avS X 3 3 3 3 3 3 3 3 3 27
FF s 12 12 12 12 12 12 12 12 12 108
f;ﬁf;% 2 2 2 2 2 2 2 2 2 18
B | OIFY
ok | @z 1 1 1 1 1 1 1 1 1 9
%= & 1 1 1 1 1 1 1 1 1 9
:';"’wu‘y & | | | | | | | | | 9
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4 fREERF

48 PREHRMESEDNHEME—ER

(FR304£10H 1 HELLE)

o P o RO & ET
k4 HENAN | HNET/N | $54 B | #RET/N | BAME/N | FHI I
_ NG| NR =]} F5 F5 KIx E3]m]
PR it 2-13-2 | 1-23-16 | 2-28-4 | 2-36-3 | 1-13-9 | 5-40-18 | 2-60-1
m 64.00 59.04 26.95 10.37 47.48 44.30 63.73
EE HhRE 1[RE- 4.
5 1R 1R 1R NEE waE | nex | nes
ILR—4—DHE i i i i i i i
MESH B
BNV Zyh— ] 0 0 0 0 0 23 28
(1%5=6 fE x20 &) B 0 0 0 0 0 2, 760 3, 360
oI9S h— E<] 18 18 18 18 18
(1 FE=140 B) B 2,520 2,520 2,520 2,520 2,520 0 0
Hh O, F] 25 25 25 27 25 13 24
(1 #8=50 &) B 1, 250 1, 250 1, 250 1, 350 1, 250 650 1, 200
B b 7 7 7 5 7 5 5
(1%8=50 &) B 350 350 350 250 350 250 250
FEXUFa— s
1§=61F(1208) (FLTv7
Y—ZRSA4) i
E?i&?l_ %‘E 29 29
1§8=61F(1208) (FLTv7
Y—XKSA4t) & 132 132
FI)Y)—AFa1— %5 15 21
1§=61F(1208) (FLTv7
Y—XKSA4) & 90 126
JY—=—FFX - Fa— 5 7
178=6&(160R)  (FILN
AVIT#) & 42
R Fa— s 3
1#8=6 & (160 &) (7R
AVIT#) & 48
RIS Fa— FLIFI—| 4 49 49 49 49 49 19 19
A&t
(LRLREAT) (1 55=50 B) B 2,450 | 2,450 2,450 | 2,450 2, 450 2, 450 2, 450
MIILY FRERA) w 40 40 40 40 40 40 40
WIILY (97 ALIER) x 350 350 350 350 350 350 350
MEILY (FLIILE—SIEA) x 132 132 132 132 132 132 132
e ] 6 6 6 4 6 4
K150 188 % X 48 48 48 32 48 32
7K (500me) 1 f5=24 A& ;i
#WF (10kg) [ 1 1 1 1 1
&5 (1 ke) kg 5 5 5 5 5 5 5
TBEXVYURIL E<] 4 4 4 4 4 4 4
(1f#E12@AN) & 48 48 48 48 48 48 48
z£0O0-—Y7) 5 3 3 3 3 3 3 3
(1%860AXA) A 180 180 180 180 180 180 180
a—vy 7
HWELUA X 13 13 13 13 13 13 13
WEUVARBAEE #H 13 13 13 13 13 13 13
SO FTA & 3 3 3 3 3 3 3
~NyRSUT & 15 15 15 15 15 15 15
LED ANyRZ Ak & 5 5 5 5 5 5 5
LED 51+ & 6 6 6 6 6 6 6
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4 HEBAR
o P o IO & ET
k4 HENAS | HNET/N | $54 B | #RET/N | BAME/N | FHI I
LED S/ +AE; & 20 20 20 20 20 20 20
75t (8 3) P 200 200 200 200 200 200 200
YT 5 20 900 20 20 20 20
X 1, 000 1, 000 1, 000
€9)
EM =
) 1, 000 150 1, 000
g4 " 1, 000 1, 000 160 1, 000 1, 000
vk "
] éf? 1,005 1,005
REY | A—Rvbk =
€9)
I7Ivk e 200 200 200 200 200 200 200
I7IVRZERAN | 8 8 8 8 8 8 8
REKE ® 200 350 1,000 | 1,000 650 200 150
ZERANEEYH 54 70 80 70 80 70 80 80
AFIL e 1,960 | 2,000 2,000 | 1,500 1, 960 1, 940 1, 960
A 1@ 10 10 10 10 10 10 10
#R7K R (30) % 1, 250 1, 250 1,250 | 1,250 1, 250 1, 250 1, 250
#RIk&E (100) ] 32 32 32 32 32 32 32
ka3 1& 15 15 15 15 15 15 15
WK1t fEEH = 1 2 2 2 1 2
FEIXBKEH =1 2 2 2 2 2 2 2
REEEYM(FSHE) 1& 6 6 6 6 6 6 6
HEIY = 10 10 10 10 10 38 10
FAyaR—/— b 30 27 30 30 30 30 30
i & 8, 000 8, 000 8, 000 8, 000 8, 000 8, 000
#gm " 1, 000 1, 200 1, 200 1, 000 1, 200 1, 000
AT—> S
TA—H9RT—> X 3,000 | 3,000 3,000 | 3,000 3, 000 3, 000 3, 000
7 35 56 86 56 60 56 90 56
Z A5 (900) ® 80 100 100 100 100 400 100
B AER 1& 30 30 30 30
{5 28 FRURAH 22 S 600 600 600 600
H=4—0 (BES5cAL) 1& 30 30 30 15 30 30 30
B ZA—T HARTE % 1, 200 1, 200 1, 200 1, 200 1, 200 1, 200 1, 200
TUR—ILE ML = 1 1 1 1 1 1 1
Iok— )L a—45— & 1 1 1 1 1 1 1
Toik—ILkM LT YR #H 3 3 3 2 2 3 3
#HIL K ERR (K = 2 2 2 2 2
ARTERE 1@ 2 2 2 2
HHENLUBATU ik 2 2 2 2 2 2 2
By TR AL (KIK) = 2 2 2 2 2 2 2
— R
(512g_é3°§|*4l/(/ﬁ$%nn) % 9 9 9 9 9 9 9
FALYRR—/3— b
(1%128—)L) A—JL
rLwkR—/8— # 4 4 4 4 4 2 4
(1448 0—)L) a—JL 192 192 192 192 192 96 192
TR iR 1 1 2 1 1 1
REBTFUR iR 1 1 1 1 1 1
TSAR— TR () iR 3 3 3 3 3 3 3
TSAR—+FUR(K) iR 2 2 2 2 2 2 2
B EEEF = 2 2 3 1 2 2 2
1) hHh— = 2 2 1 2 2 2
LAFa1—Hh— = 1 1 1 1 1 1
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4 fREERF

ey, S . B§ O & Hr
k4 HENAS | HNET/N | $54 B | #RET/N | BAME/N | FHI I
FEEN 2 2 2 2 2 2 2
FEE 3 3 3 3 3 3 3
o FEEN 2 2 2 2
= St =i = 3 3 3 3 3 3 3
= £ Y
IN=L3 3 3 3 3 3 3 3
LED 8 8 8 8
a—FkyY—JL 3 3 3 3 3 3 3
. IN—F— 1 1 1 1 2 1
’g /|\ ﬁ RE @ 1 2 1 1 1 1
7 L | 4Tim(1ex8 k) " 1 1 1 1 1 1 1
| A a—ky—JL 1 1 1 1 1 1
KTiH (12) &
£ = 2 2 2 2 2 2
mEHLATL—+ =) 1 1 1 1 1 1 1
RELLOEVR = 1 1 1 1 1 3 1
RHE LA PP & En 16,000 | 16,000 | 16,000 16,000 12,000 | 16,000 16,000
E SO | ] 80 80 60 80 80 80 78
AV REE 1) bin 10 10 10 10 10 10 10
AV REE(100) &
FAIL(12) i 2 1 1 1 1 1 1
#ITHARaVO & 20 20 20 20 20 20 20
arOfERUA X 60 60 60 60 60 60 60
Btk #H 1 1 1 1 1 1 1
=AM ® 100 100 100 100 100 100 100
am(1R10%) £
(158 40 %) £ 3 3 3 3 3 3 3
H—E % 12%) S 1 1 1 1 1 1 1
6L ® 30 30 30 30 30 30 30
FHASLD " 300 300 300 300 300 300 300
AKAREBTD " 300 300 300 300 300 300 300
HIERA 1& 1, 000 1, 000 1,000 | 1,000 1, 000 1, 000 1, 000
{828 za 4 4 7 4 4 4 4
RN EER R 4 4 4 4 4 4 4
HEARNYR =) 7 7 7 7 7
AJLAYR & 16 16 16 16 16 16 16
BF Il 50 50 50 50 50 50 50
TI5—F% pd 10 10 10 10 10 10 10
THEE<RY 1& 50 50 50 40 50 50 60
BhK—bk " 100 100 100 100 110 100 100
N 1& 5 5 5 5 5 5 5
Sy (Tt) = 1 1 1 1 1 1 1
v (4t) = 1 1 1 1 1 1 1
SHETT vy (2.5) =1 1 1 1 1 1 1 1
EVF—LUF T 1 1 1 1 1 1 1
N—JL X 5 5 5 5 5 5 5
2ayF X 5 5 5 5 5 5 5
DOZEY (BEHK) w 3 3 3 3 3 3 3
DZEY (Frd=) N 2 2 2 2 2 2 2
RILED ) wii— X 5 5 5 5 5 5 5
A—7(20m) x 10 10 10 10 10 10 10
a—7 (10m) A 10 10 10 10 10 10 10
FEE(HRER) 1& 2 2 2 2 2 2 2
INFR B (FRER) & 2 2 2 2 2 2 2
BH a 2 2 2 2 2 2 2
RERE =) 2 2 2 2 2 2 2
DIvhTava " 1, 260 1, 260 1, 260 1, 260 1, 260 1, 260 1, 260
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4 HEBAR
o P o IO & ET
k4 HENAS | HNET/N | $54 B | #RET/N | BAME/N | FHI I

ARAA L " 3, 660 3, 660 3,660 | 3,660 3, 660 3, 660 3, 660
JEEER 1@ 100 100 100 100 100 100 100
FR—O—=X FEEes 1@ 10 10 10 10 10 10 10
AT T—T 8 10 10 10 10 10 10 10
E-—L& ® 200 200 200 200 200 200 200
E-_—ILF% A 300 250 250 250 250 250 250
i = 1 1 1 1 1 1 1
B E (XHEKX) 1& 50 50 50 50 50 50 50
BiE (XREX -R5T747) & 50 50 50 50 50 50 50
Ty (B-K-F-#) #H 20 20 20 20 20 20 20
hrTa X

KEFZORESR = 6 8 8 10 10 8 10
KJT—2R99 ® 150 150 150 150 150 150 150
TEEYr = 1 1 1 1 1 1 1
DIFYIEGEEREA) = 1 1 1 1 1
Ryphr— & 5 5 5 5 5 5 5
XIFEREERH (EB) 00 -

) *

NREERR LAN B35 (USB #AE -

ACT7TETRED) & 3 3 3 3 3 3 3
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4 fREERF

H0 &
45 il E VN - 7 [P 7N Rl TN 2
S~ /INER | &FH KIE KIE KRN = il
2 2-3-8 | 2-6-15 | 3-2-3 | 4-1-7 Yo 2-28-14| 2-14-6
m 58.80 87.34 61.76 5.91 37.28 46.63
i i | DB o | wm | sem i | sam
NEE - -
ILR—4—DHE i i i:l i i i:l i:l
MES B
YA D5yh— F] 0 0 0 0 0 0 0
(1%5=6 fF x20 &) B 0 0 0 0 0 0 0
oI9S h— F 18 20 18 18 18 18
(1 FE=140 B) B 2,520 2,800 2,520 2,520 ol 2,520] 2 520
HhhoOTER 56 24 25 25 35 25 23
(1 #8=50 &) B 1,200 1,250 1,250 1,750 1,250 | 1,150
B 5 5 5 7 2 7 5
(1 #8=50 &) B 250 250 350 100 350 250
FEXFa— %5 24 24
15=6F(1208) (FLI>7)—X
RS(41) & 144 144
E?i&?l_ %‘E 18 21
15=6F(1208) (FLI>7)—X
kS43) G 108 126
9—") ‘/_xv?l— %E 21 29
15=6F(1208) (FLI>7)—X
KS4) & 126 132
D)—Z—FF - Fa— % 7 7
1 F8=6 (160 B) (FILISL
I74) G 42 42
BRSO Fa— = 8 8
1f#8=6 (160 &) (FILIsAL>
I7%t) & 48 48
71_\'7 AN Fa— 7)[/777_X %E 49 49 49 49 49 49
HXen
(LRLRAT) (1 550 B) B 2,450 | 2,450 2,450 2,450 2,450 | 2,450
MIILY GRERA) N 40 40 40 40 40 40
WMIILY (95 ALIER) x 350 350 350 350 350 350
ML (FLIILX—XIIEA) x 132 132 132 132 132 132
e 8 4 6 6 4
K150 188 % X 32 48 48 32
7K (500me) 1 f&=24 A& ;i T (I)Z;g
#WF(10kg) 8 1 1 1 1 1 1
B8 (1 ke) kg 5 5 5 5 8 5
ZEXvURIL ] 4 4 4 4 6 4
(1#E12@AN) & 48 48 48 48 72 48
Ze&O—yYy 5 3 2 2 3 5 3
(1%860AXA) X 180 120 160 180 300 180
a—vy 7
HWEL VA 7N 13 13 13 13 13 13
HWEUVARBAEE #H 13 13 13 13 13 13
SO FTA & 3 3 3 3 3 3
~NyRSUT & 15 15 15 15 23 15
LED ANyRZ Ak & 5 5 5 5 5 5
LED 51+ & 6 6 6 6 6 6
LED S/ +AEM & 20 20 20 20 20 20
75t (8 3) V. 200 200 200 200 200 200
VT 8 20 20 20 20 20 30 20
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4 HEBAR
H0 &
R il E VN - 7 [P 7N Rl TN 2
@f?
EMM =
) 1, 000 920 | 1,000 150 850 600 | 1,000
g4 " 1,000 1,000] 1,010 160 840 | 1,500 1,000
<k " 160
AR
REM | A—uk e
(%)
I7vbk " 200 200 200 200 200 200
IT7IVRESRAN & 8 8 8 8 8 8
REKE ® 150 600 600 350 615 200
ZHERNEEY 34 70 70 70 50 80 70
AL e 2,000 2,000] 2000 1,500 1,500 3,000 2,000
A 1@ 10 10 10 10 15 10
#R7K R (30) % 1,250 1,250 1,250 | 1,250 1,250 1,250
#RIk&E (100) £ 32 32 32 32 32 32
#Bkavy & 15 15 15 15 15 15
WK1t fEEH = 2 2 2 1 3 2
FEIXBKER =1 2 2 2 2 2 2
HfEEY(FESHFH) & 6 6 6 6 13 6
HLIY = 10 20 10 10 20 10
FAYarR—/— E<] 30 30 30 20 45 30
i & 8,000 | 8,000 7,992 8,000 | 12,000 | 8,000
#gm " 1,000 1,000] 1,000 1,000 | 2,200] 1,000
RAT—> P
ITA—HYRT—> S 3,000 3,000] 3,000 3,000]| 3000]| 3000][ 3,000
7 35 48 56 56 56 84 56
Z A5 (900) ® 100 100 200 100 200 100
B AER & 30 30 30 30 30
{F 2R FRIRAh £ 600 600 600 600 600
H=HA—T (BEShAL) & 30 30 18 30 30 30
HZA—T HARTE & 1, 200 1,200 1,200 1, 200 1, 200 1, 200
TUR— LB L = 1 1 1 1 1 1
Iok—)La—45— & 1 1 1 1 1 1
Toik—ILkM LT YR #H 3 2 3 2 3 3
#HIL S AEER (K) = 2 2 2 2 3 2
ARTERE & 3
HENLUBATU iR 2 2 2 3 2
By TR AL (KIK) = 2 2 2 2 2 2
S N Nof= = e
i?h?intl*’fb(/ﬁ$%nn)(1$ﬁ5 % 9 9 9 9 9 9
L yrR—/3— i
(1% 128—)L) A=l
LYk R—s8— 5] 4 5 5 3 1 10 4
(1%480—)L) - 192 240 240 144 48 480 192
TR iR 1 1 1 1
AETFUR iR 1 1 1 1 1 1
TSAR— Tk () iE 3 3 3 3 3 3
TSAR—+FUR(K) iE 2 2 2 2 2 2
B EEEF = 2 2 2 2 1 2
1) hHh— = 2 2 2 2 2
LAFa1—Hh— = 1 2 1 1 1
B FEN 2 2 2 2 2 2
- " FER = 3 3 3 3 3 3
LREST 2 2
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4 fREERF

INER]

FEEEHET

k4 N 2/ | EET | KD 2 ZEI | Bz
=i 3 3 3 3 3 3
IN=L 3 3 3 3 3 3
LED 8 8
a—Fky—JL 3 3 3 3 3 3
. IN—F— 1 1 2 1
’g /|\ ﬁ REH @ 1 1 2 1 1
FF L [ 4Tlmex8 ) " 1 1 1 1 1 1
| A a—FkyY—JL 1 1 1
KTiH(12) &
S = 2 2 2 2 1
mEHLATL—+ =) 1 1 1 1 1 1
RELLOEYR = 1 1 1 1 1
RHE LA PP & & | 16,000 16,000] 16,000 | 10,000 24,000 | 16, 000
E SO | a8 80 80 100 10 120 80
AV REE ) bin 10 10 10 10 10 10
Ao REE(100) &
FAIL(12) fin 1 1 1 1 1 1
T HARaVO & 20 20 20 20 30 20
arOfAERUA X 60 60 60 60 90 60
Btk #H 1 1 1 1 1 1
=fAm ® 100 70 100 100 150 100
am(1R10%) £
A (15840 &) % 3 3 3 3 6 3
H—E&12%) £ 1 1 1 1 1 1
6L ® 30 30 30 30 55 30
FHASLD " 300 300 300 300 400 300
AKARBTD " 300 300 300 300 300 300
AR 1& 1,000 1,000] 1,000 1,000 2,000 | 1,000
{828 za 4 4 4 4 4 4
RN EER ] 4 4 4 4 4 4
HEARNYR =) 7 5 7 2 9 7
AJLAYR & 16 16 16 16 16 16
BF s 50 50 50 50 50 100 50
TI5—F% pd 10 10 10 10 10 10
THEE< RS & 50 50 60 10 50 50 50
BhK—bk " 100 100 100 100 160 100
L2 1& 5 5 5 2 3 6 5
Sy (Tt) = 1 1 1 1 1 1
v (4t) = 1 1 1 1 2 1
SHE T vy (2.5) =1 1 1 1 1 1 1
EVF—LUF T 1 1 1 1 1 1
N—JL X 5 5 5 5 7 5
2ayF X 5 5 5 5 7 5
DZEYEHARK) N 3 3 3 3 4 3
DIEY (A=) N 2 2 2 2 3 2
RILRD s i— X 5 5 5 5 7 5
A—7(20m) x 10 10 10 10 16 10
a—2 (10m) A 10 10 10 10 16 10
FEE(HRER) & 2 2 2 2 3 2
INFR B (FRER) & 2 2 2 2 3 2
BH =) 1 2 2 2 2 2
R =) 2 2 2 2 3 2
DIyhTava " 1,260 1,260 1,260 1,260 1,260 | 1,260
ARAA L 54 3,660 | 3,660| 3,660| 3,660 3,660 | 3,660
JEEER 1@ 100 100 100 100 150 100
FR—O—=X FEEss 1@ 10 10 10 10 15 10
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4 HEBAR

R il E VN - 7 [P 7N Rl TN 2
AT T—T i\ 10 10 10 10 10 10
E-—L& ® 200 200 200 200 200 200
E-_—ILF% A 250 250 250 500 500 250
i = 1 1 1 1 2 1
BiE (XRERX -RZT747) & 50 50 50 50 50
Ty (B-F-F-#H) #H 20 20 20 20 50 20
hrTa X
KEFZORESR = 7 7 10 7 10 10
KJT—2R99 ® 150 150 150 150 150 150
TEEYr = 1 1 1 1 1 1
DIFYIEGEEREA) = 1 1 1 1 1 1
RyphrF— & 5 5 5 5 5 5
XIRERHEERHN(EB)(100 B) 7 20
NRBELHRLANIEES (USBIRE -ACT A 5 5 5 5 5 5 5

ETEEL)
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4 fREERF

H0 &
R e | TR L wmn | maon | maon | T oo,
S~ RiE | FEAKR | FEAK | KEpiA RE | REBA | REB
1-24-3 | 5-44-2 | 2-19-23| 2-28-31 | 2-37-5 | 2-29-6 | 4-5-15
m | 6090 | 59.76 | 69.27 59.96 84.75 5752 | 76.86
i e | oome | o | ome | s | 2% | ame | osem
NEE
ILR—A4—DHE i i i:l i:l i i i:l
MES B
A OAYIr e B b 29 0 0 0 18 0 24
(1 §6=6 {5 x 20 B) B 3, 480 0 0 0 2,160 0| 2,880
oI9S h— 4] 18 18 18 18
(1 FE=140 B) B ol 2,520 2,520 2,520 o] 2, 520 0
hheodOTER 56 25 25 25 25 25 24 24
(1%5=50 &) B 1,250 1,250 | 1,250 1, 250 1,250 1,200 1,200
Ehip b 5 7 7 7 2 2 3
(1%8=50 &) B 250 350 350 350 100 100 150
FXUTFa— 5 23 23
15=6F(1208) (FLI>7)—X
RS(41) & 138 138
E?i&?l_ %‘E 21 29
15=6F(1208) (FLI>7)—X
kS43) G 126 192
15=6F(1208) (FLI>7)—X
kS43) G 132 192
J—E—FF T Fa— pee 7 7
1 F8=6 (160 B) (FILISL
I7%t) & 42 42
R Fa— v 3 3
1f#8=6 (160 &) (FILIsAL>
I7%t) & 48 48
RIS Fa— FLI7T-Z | g 49 49 49 49 49 49 49
HXen
(LRLRAT) (1 550 B) B 2,450 | 2,450 | 2,450 2, 450 2,450 | 2,450 | 2,450
MIILY FRERA) w 40 40 40 40 40 40 40
WML (97 BLRER) x 350 350 350 350 350 350 350
ML (FLIILX—XIEA) x 132 132 132 132 132 132 132
e 8 5 6 6 6 2 4
K150 188 % X 40 48 48 48 16 32
K (500me) 1%65=24 & ’f(
#F (10 kg) 18 1 1 1 1 1
B8 (1 ke) kg 5 5 5 5 5 5 5
ZEXvURIL 8 4 4 4 4 4 4
(1f#E12@AN) & 48 48 48 48 48 48 48
z£0O0—-Y7) 5 3 3 3 3 3 3 3
(1%860AXA) X 180 180 180 180 180 180 180
a—vy 7
HWELUA X 13 13 13 13 13 13 13
HWEUVARBAEE #H 13 13 13 13 13 13 13
UM+ &l 3 3 3 3 3 3 3
YRS & 15 15 15 15 15 15 15
LED ANyRZ Ak & 5 5 5 5 5 5 5
LED 51+ & 6 6 6 6 6 6 6
LED S/ +AEM &l 20 20 20 20 20 20 20
7T (8 3) P 200 200 200 200 200 200 200
VT 8 20 20 20 20 20 20 20
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4 HEBAR
H0 &
R e | TR L wmn | maon | maon | T oo,
X 1,000 | 1,000 600 1, 000 950 | 1,000 | 1,000
()
EMM =
() 400
g4 " 1,000 | 1,000 1, 000 460 1, 000
<k " 1, 000 560 | 1,000
AR
REM | A—uk e
(%)
I7Ivk e 200 200 200 200 200 200 200
I7IVRERAN & 8 8 8 8 8 8 8
REKE ® 150 350 400 300 400 350 | 1,000
ZERANEEYH 34 80 70 70 70 50 70 70
AL e 2,000 | 2,000 2,000 1, 960 2,000 | 2,000 2,000
RN 1@ 10 10 10 10 10 10 9
FAIKEE (30) % 1,250 1,250 | 1,250 1, 250 1,250 1,250 | 1,250
#RIk&E (100) ] 32 32 32 32 32 32 32
Bk & 15 15 15 15 15 15 15
WK 1tfBE Y = 2 1 2 2 2 2 1
FEIXBKER =1 2 2 2 2 2 2 2
AEEYMTESHE) 1& 6 6 6 6 6 6 6
HLIY = 10 10 10 10 38 10 10
FAYAR—/ S — 5 30 30 30 30 30 30 30
a7 & 8,000 | 8,000 8,000 8, 000 8,000 | 8,000 8,000
#RI 54 1,000 1,200 1,000 1, 000 1,000 | 1,000 979
RAT—> P
ITA—HYRT—> X 3,000 | 3,000 3,000 3, 000 3,000 | 3,000 3,000
7 35 56 56 56 56 56 26 56
Z A5 (900) ® 100 100 100 90 100 100 95
B AER 1& 30 30 30 30
{28 FRURAH 22 S 600 600 600 600
H=HA—T (BEShAL) & 30 30 30 30 30 30 30
B ZA—T HARTE % 1,200 1,200 1,200 1, 200 1,200 1,200] 1,200
TUR— LB L = 1 1 1 1 1 1 1
Iok—)La—45— &l 1 1 1 1 1 1 1
Toik—ILkM LT YR #H 3 3 3 3 2 2 2
#HIL X (ERR (KD = 2 2 2 2 2 2 2
ARTERE 1@ 2 2 2 2 2
HENLUBATU iR 2 2 2 2 2 2 2
By TR AL (KIK) = 2 2 2 2 2 2 2
S N Nof= = e
iile?intl*’fb(/ﬁ$%nn)(1$ﬁ5 % 9 9 9 9 9 9 9
L yrR—/3— i
(15 120—)L) o—J)L
LYk R—s8— 5] 4 6 4 4 6 4 6
(1448 0—)L) a—JL 192 288 192 192 288 192 288
TR iR 1 1 1 1 1 1 1
AETFUR iR 1 1 1 1 1 1 1
TSAR— Tk () iR 3 3 3 3 3 3 3
TSAR—+FUR(K) iR 2 2 2 2 2 2 2
B EEEF = 2 2 2 2 2 2 2
1) hHh— = 2 2 2 2 2 2 2
LRF¥a—hH— & 1 1 1 1 1 1 1
B FEN 2 2 2 2 2 2 2
- * FHEE = 3 3 3 3 3 3 3
RET 2 2 2
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4 fREERF

FEKR

FEEEHET

k4 FREND I BRI | BN | BaA/ I AR
=i 3 3 3 3 3 3 3
IN=L3 3 3 3 3 3 3 3
LED 8 8 8
a—Fky—JL 3 3 3 3 3 3 3
. IN—F— 1 1 1 2 1 1 1
’g '|\ f‘;ﬁ REH @ 1 2 1 2 1 1 2
£+ L | 4Tim(1exsm) " 1 1 1 1 1 1 1
| A a—FkyY—JL 1 1 1 1 1 1 1
KTiH(12) &
£ = 2 2 2 2 2 2 2
mEHLATL—+ =) 1 1 1 1 1 1 1
RELLOEYR = 1 1 1 1 1 1 1
LA PP & £ | 16,000 | 16,000 | 16,000 | 16,000 | 16,000 | 16,000 | 16,000
E SO | a8 80 80 80 60 80 80 80
AV REE ) bin 10 10 10 10 10 10 10
Ao REE(100) &
FAIL(12) fin 1 1 1 1 1 1 1
T HARaVO & 20 20 20 20 20 20 20
arOfAERUA X 60 60 60 60 60 60 60
Btk #H 1 1 1 1 1 1 1
=fAm ® 100 100 100 100 100 100 100
am(1R10%) "
A (15840 &) *% 3 3 3 3 3 3 3
H—E&12%) ER 1 1 1 1 1 1 1
6L R 30 30 30 30 30 30 30
FHASLD " 300 300 300 300 300 300 300
AKARBTD " 300 300 300 300 300 300 300
HIERAA 1& 1,000 | 1,000 | 1,000 1, 000 1,000 | 1,000 | 1,000
{828 za 4 4 4 4 4 4 4
RN EERS S 4 4 4 4 4 4 4
HEARNYR =) 7 7 7 7 7 7 7
AJLAYR & 16 16 16 16 16 16 16
BF s 50 50 50 50 50 50 50
rI5—F% N 10 10 10 10 10 10
THEE< RS & 50 40 50 50 50 60 50
BhK—bk " 100 100 100 100 100 100 100
L2 1& 5 5 5 5 5 5 5
Sy (Tt) = 1 1 1 1 1 1 1
v (4t) = 1 1 1 1 1 1 1
SHE T vy (2.5) =1 1 1 1 1 1 1 1
EVF—LUF T 1 1 1 1 1 1 1
N—JL X 5 5 5 5 5 5 5
2ayF X 5 5 5 5 5 5 5
DZEY (BFHHAK) N 3 3 3 3 3 3 3
DZEY (Frd=) N 2 2 2 2 2 2 2
RILED ) wii— X 5 5 5 5 5 5 5
A—7(20m) x 10 10 10 10 10 10 10
A—7 (10m) A 10 10 10 10 10 10 10
FEE(HRER) & 2 2 2 2 2 2 2
INFR B (FRER) & 2 2 2 2 2 2 2
BH =) 2 2 2 2 2 2 2
R =) 2 2 2 2 2 2 2
DIyhTava " 1,260 1,260 1,260 1, 260 1,260 | 1,260 1,260
ARAA L " 3,660 | 3,660 3,660 3, 660 3,660 3,660 | 3,660
JEEER 1@ 100 100 100 100 100 100 100
FR—O—=X FEEss 1@ 10 10 10 10 5 10 10
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4 HEBAR
R e | TR L wmn | maon | maon | T oo,
AT T—T 5 10 10 10 10 10 10 10
E-—L& ® 200 148 200 200 200 200 200
E-_—ILF% A 250 250 250 500 250 250 150
i = 1 1 1 1 1 1 1
B E (XHEKX) 1& 50 50 50 50 50 50 50
BiE (XREX -RST747) 1& 50 50 50 50 50 50 50
Ty (B-K-F-#) #H 20 20 20 20 20 20 20
hrTa X
KEFZORESR = 8 11 10 8 8 8 9
cIJT—2R99 ® 150 150 150 150 150 150 150
TEEYr = 1 1 1 1 1 1 1
DIFYECEEAEA) = 1 1 1 1 1 1 1
Ryphr— & 5 5 5 5 5 5 5
XIFERHEFERH(EB)(100 B) 7 50 50
NREIRLANGEES (USBHRE-ACT A 5 5 5 5 5 5 5

ETEEL)
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4 fREERF

4 [BTET/N —tp = 7N J\th s +b
— A | RN FB RE | F8K | XA | FF
1-1-19 | 5-8-9 | 1-9-31 | 1-2-2 | 2-19-22| 3-28-9 | 2-40-17
m 76.73 64.52 70.56 90.97 63.75 64.71 63.00
=
by CH Bee< S ERTSN INLP IO TR BT T
ILR—4—DHE i i i A A i i
MESA B
A OAYIr e B a8 0 0 23 0 0 0 20
(1 #8=6 {5 x 20 B) B 0 0 2,760 0 0 0 2,400
oI9S Hh— 4] 18 18 18 18 18
(1 FE=140 B) B 2,520 2,520 0 2,520 2,520 2,520 0
HhheOTER & 25 25 24 25 25 24 25
(1%5=50 &) B 1,250 1,250 1,200 1,250 1,250 1,200 1,250
B 8 7 7 5 7 7 5
(1 #8=50 &) B 350 350 250 350 350 250
FXITFa— £ 23 22 23
15=6F(1208) GFLdvrJ—
ZRS44t) Gl 138 132 138
FRVFa— £ 22 23 22
158=6F(1208) GFLdv7J—
RS 14t) Gl 132 138 132
FU)—ATFa— % 22 22 22
178=6F(1208) GFLdvrJ—
RS 14) Gl 132 132 132
J)—Z—FF L Fa— P
1 F8=6 (160 B) (FILILY
T74t) &
BFEFa— v
1f#8=6 (160 &) (FILIsA
VITH) &
RIAFa— TFTIT7I—X a8 49 49 49 49 49 49 49
A
tﬁff/ﬁ, £4F) (1 E5=50 &) B 2,450 2,450 2,450 2,450 2,450 2,450 2,450
MIILY FRERA) x 40 40 40 40 40 40 40
WIILY (95 ALIER) A 350 350 350 350 350 350 350
ML (FTLIILX—3IEA) x 132 132 132 132 132 132 132
. 7 6 6 6 6 4
A(1.50) 1988 & S 48 48 48 48 32
7K (500mQ) 1 #§=24 K ;i &gig
#WF (10 kg) 18 1 1 1 1 1 1 1
B18 (1 kg) kg 5 5 5 5 5 4 5
ZEXvURIL ] 4 4 4 4 4 4 4
(1FE12EAN) & 48 48 48 48 48 48 48
z£0O0-—Y7) 8 3 3 3 3 3 3 3
(15860 &AN) w 180 180 180 180 180 180 180
a—vy 7
HWELUA x 13 13 13 13 13 13 13
WEVCARBZAEE #H 13 13 13 13 13 13 13
SO FTA & 3 3 3 3 3 3 3
~NyRSUT & 15 15 15 15 15 15 15
LED NyRZ Ak & 5 5 5 5 5 5 5
LED 51+ & 6 6 6 6 6 6 6
LED S/ +AEM & 20 20 20 20 20 20 20
7Tt (8 3) P 200 200 200 200 200 200 200
YT 35 20 20 20 20 20 20 20
Ef éf? 1, 000 760 | 1,000 1,000 | 1,000
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4 HEBAR
4 [HITET/N —rh = 7N J\rh s +b
X
) 1, 000 230 1, 000
g4 " 550 1, 000 1, 000
<k " 450 1, 000 1, 000 1, 000 1, 000
AR
R | h—Ruk gt
()
I7Ivk " 200 200 200 200 200 200 200
IT7IVRERAN & 8 8 8 8 8 8 8
REKE % 200 150 200 550 200 350 150
ZERANEEYH 34 50 50 70 70 50 70 50
AL " 2,000 2,000 2000 2,000] 2000 1,98/ 2, 000
RN 1@ 10 10 10 10 10 10 10
#R7K % (30) % 1,250 1,250 1,250 1,250 1,250| 1,250] 1,250
#aIkE& (100) ] 32 32 32 32 32 32 32
Bk & 15 15 15 15 15 15 15
WK 1tiBEY = 2 1 2 1 2 1 2
FEiBKEH = 2 2 2 2 2 2 2
AEEYMTESHE) & 6 6 6 6 6 6 6
HEIY = 10 10 10 10 10 15 10
FA4YaR—/R— 35 30 30 30 30 30 30 30
a7 & 8,000 7,840 8,000| 8,000] 8000 8,000]| 8 000
4 m " 1,000 1,000] 1,000| 1,200] 1,000 950 1, 200
AT—> S
TA—HYRT—> S 3,000 3,000] 3,000] 3,000] 3,000] 3,000] 3,000
7 & 60 56 56 34 56 56 56
Z A5 (900) ® 100 100 120 100 100 100 100
HAER 1@ 30 30 30 30
{5 28 FRURAH 22 ] 600 600 600 600
H=HA—T (EShAL) 1& 30 30 30 30 30 30 30
B ZA—T HARTE % 1, 200 1, 200 1, 200 1, 200 1, 200 1, 200 1, 200
TUR— LB L = 1 1 1 1 1 1 1
Ivk—I)La—45— & 1 1 1 1 1 1 1
Toik—ILkML TR EYE #H 3 4 3 3 2 3 3
#HI X (ERR (K = 2 2 2 2 2 2 2
ARTERE & 2 2 2 2
HENLUBATU iR 2 2 2 2 2 2 2
By TR AL (KIK) = 2 2 2 2 2 2 2
S : Nof = e
iile?intl*’fb(/ﬁ$%nn)(1$ﬁ5 % 9 9 9 9 9 9 9
L yrR—/3— i
(158 120—)L) a—
L yrR—/3— E<] 4 4 5 5 5 5 5
(1%480—)L) a—JL 192 192 240 240 240 240 240
TR iR 1 1 1 1 1 1
AETFUR iR 1 1 1 1 1 1
TSAR— Tk () iR 3 3 3 3 3 3 3
TSAR—+FUR(K) iR 2 2 2 2 2 2 2
B EBEEF = 2 2 2 2 2 2 3
1) h— = 2 2 2 2 2 2 2
LAFa1—Hh— = 1 1 1 1 1 1 1
HE 2 2 2 2 2 2 2
HE 3 3 3 3 3 3 3
. ANE i 2 2 2 2
= 2% = = 3 3 3 3 3 3 3
oz
IN=L3 3 3 3 3 3 3 3
LED 8 8 8 8
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4 fREERF

4 [HITET/N —rh = 7N J\rh s +b

a—ky—JL 3 3 3 3 3 3 3
. IN—F— 1 2 1 1 1 1
’g '|\ f‘;ﬁ FEH @ 1 1 1 2 1 2 1
FF L [ «TmGexs ) " 1 1 1 1 1 1 1
| A a—FkyY—JL 1 1 1 1 1 1

KTiH (12) &
£ = 2 2 2 2 2 2
mEHLATL—+ =) 1 1 1 1 1 1 1
RELLOEYR = 1 1 1 1 1 1 1
R LA PP & &% 16,000 | 16,000 | 16,000 16,000 16,000 | 16,000 | 16,000
2y 8 80 80 80 80 80 80 80
AV REE 1) bin 10 10 10 10 10 10 10

AV REE(100) &
FAIL(12) i 1 1 1 1 1 1 1
T HARaVO & 20 20 20 20 20 20 20
arOfERUA X 60 60 60 60 60 54 60
Btk #H 1 1 1 1 1 1 1
=AM ® 100 100 100 100 100 100 100

am(1R10%) "
(15840 &) *% 3 3 3 3 3 3 3
H—E % 12%) g 1 1 1 1 1 1 1
6L R 30 30 30 30 30 30 30
FHASLD " 300 300 300 300 300 300 300
AKAREBTD " 300 300 300 300 300 300 300
HIERAA 1& 1,000| 1,000| 1,000] 1,000] 1,000| 1,000] 1,000
{828 za 4 4 4 4 4 4 4
RN EERS £ 4 4 4 4 4 4 4
HEARNYR a 7 7 7 7 7 7
AJLAYR & 16 16 16 16 16 16 16
BF Pyl 50 50 50 50 50 50 50
rI5—F% s 10 10 10 10 10 10 10
THEE<RY 1& 50 50 50 60 50 50 50
BhK—bk " 100 100 100 100 100 100 100
N & 5 5 5 5 5 5 5
Sy (Tt) = 1 1 1 1 1 1 1
v (4t) = 1 1 1 1 1 1 1
SHE T vy (2.5) =1 1 1 1 1 1 1 1
EVXF—LUF T 1 1 1 1 1 1 1
N—JL X 5 5 5 5 5 5 5
2ayF X 5 5 5 5 5 5 5
DOZEY (BEHK) w 2 3 3 3 3 3 3
DZEY (Frd=) N 1 2 2 2 2 2 2
RILED ) wii— X 5 5 5 5 5 5 5
A—7(20m) x 10 10 10 10 10 10 10
A—7(10m) x 10 10 10 10 10 10 10
FEE(HRER) 1@ 2 2 2 2 2 2 2
INFR B (FRER) & 2 2 2 2 2 2 2
BH =) 2 2 2 2 2 2 2
R =) 2 2 2 2 2 2 2
DIyhTava " 1, 260 1, 260 1, 260 1, 260 1, 260 1, 260 1, 260
ARAA L " 3,660 3,660] 3,660] 3,660| 3,660| 3,660| 3,660
AL 1@ 100 100 90 200 100 100 100
FR—O—=X FEEes 1@ 10 10 10 10 10 10 10
AT T—T 5 10 10 10 10 10 10 10
E-—L& ® 200 200 200 200 200 193 200
E-_—ILF% A 250 250 250 250 250 250 250
i = 1 1 1 1 1 1 1
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4 HEBAR
4 BT/ —db = 7N J\th s +b

B E (XHEKX) & 50 50 50 50 50 50 50
BiE (XRERX -RZT747) 1@ 50 50 50 50 50 50
Ty (B-F-F-#) #H 20 20 20 20 20 20 20
hrT3 A
KEFSZORESR =) 9 10 10 10 8 10 10
cIJT—2R99 ® 150 150 150 150 150 150 150
TEEYr = 1 1 1 1 1 1 1
DIFYIEEEREA) = 1 1 1 1 1
RyphrF— & 5 5 5 5 5 5 5
XIRERHEFERHN(EB)(100 B) 7 30 30
NREIRLANGEES (USBHRE-ACT A 5 5 5 5 5 5 5

ETEEL)
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4 fREERF

IR

£

k4 Xt | EEH [AEBEH| SRt e | o s— &t
- FEAR &H AR AXE | /hEM =
Pz 5-25-10 | 2-9-5 | 2-3-23 | 1-9-24 | 1-7-4 | 4-7-10
m 16.29 36.02 9390 | 12780 | 65.78 4928 | 1,965.92
EE 1 R&. 4 R
5 A Hh B 1B Hh B g 1
ILAR—E—DHEE i:l i:l i:l i:l i:l
MES B
BNV ITyH— b 26 0 0 0 0 0 191
(1 §5=6 {5 x 20 B) B 3,120 0 0 0 0 0 22,920
oI9S h— ] 16 18 18 24 18 456
(1 FE=140 B) B o]l 2,240| 2,520 2,520 3, 360 2,520 | 63,840
HhhoOTER 56 20 25 25 25 18 25 805
(1 #8=50 &) B 1, 000 1,250 1,250 1,250 900 1,250 | 40,250
B 5 5 5 7 7 5 7 181
(1%8=50 &) B 250 250 350 350 250 350 9, 050
FEUVFa— £ 23 185
158=6F(1208) GFLdv7J—
RS A4t) & 138 1,110
E?i&?l_ %‘E 29 215
178=6F(1208) GFLdvrJ—
RS A4t) & 132 1,290
FI)Y—RFa1— 5 22 211
1578=6F(1208) GFLdvrJ—
RS A41) G 132 1, 266
'7')_5_'9—':‘1—‘:/':/9"1_ %‘E 7 7 49
1 §#8=6 {E(160 &) (FILIsA
I 7 & 42 42 294
E?i&?l_ %‘E 8 8 56
1f#8=6 (160 &) (FZILIsA
I 7) & 48 48 336
RIADFa— TLIFI— | 5 49 49 49 49 49 19| 1,617
A&t
(LRLRMAT) (1 55250 &) B 2,450 | 2,450 | 2,450 | 2,450 2, 450 2,450 | 80, 850
B FERA) A 40 40 40 40 40 40 | 1,320
WMIILY (95 ALIER) x 350 350 350 350 350 350 | 11,550
MEILY (TLIILE—SIEA) x 132 132 132 132 132 132 4, 356
- & 1 4 6 6 21 6 153
K150 188 % X 8 32 48 48 168 48 1,224
7K (500me) 1 f&=24 A& ;i B i’gi
#WF(10kg) 8 1 1 2 1 1 33
&5 (1 ke) kg 5 5 7 5 5 164
ZEXvURIL ] 4 4 7 4 4 133
(1#E12@AN) &l 48 48 84 48 48 1, 596
Ze&O—yYy 5 3 3 3 3 3 3 99
(1%860AXA) X 180 180 180 180 180 180 5, 980
a—y4s X 60 48 108
HWEL VA P 13 13 13 13 13 12 428
HWEUVARBAEE #H 13 13 13 13 13 12 428
SO FTA & 3 3 3 3 3 3 99
~NyRSUT &l 15 15 22 15 15 15 510
LED ANyRZ Ak & 5 5 5 5 5 160
LED 51+ & 6 6 6 6 6 6 198
LED S/ +FAE; &l 20 20 20 20 20 24 664
75t (8 3) V. 200 200 200 200 200 6, 400
VT 8 20 20 30 20 20 20 1, 560
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4 HEBAR
STE |45 =
By e | Bad [rman wnn [TENA HT ] ag

X 1, 000 380 | 1,100 1,000 18, 690

=% ot
0 620 400 1, 000 1,000 | 13,320
g4 " 1, 000 900 | 1,500 500 1, 050 22,630
<k ® 1,000 | 8,170
] éf? 2,010

Rem | h—~Rubk =
() 500 500
I7vbk " 200 200 200 200 200 200 6, 600
I7IIRZESAN | & 8 8 8 8 8 256
REKE ® 300 150 700 150 800 200 | 13,115
ZERANEEYH " 70 70 70 80 80 70 2,270
AL " 2,000 | 2,000 3,000] 2,000 2, 000 2,000 | 68,260
A 1@ 10 10 15 10 10 10 339
#R7K R (30) % 1,250 1,250 1,250 1,250 1, 250 1,250 | 41,250
#RKE (100) S 32 32 32 32 32 100 1,124
#Bkavy & 15 15 15 15 15 480
WK1t fEEH = 3 1 1 2 2 2 56
FEIXBKER =1 2 2 2 2 2 2 66
HfEEY(FESHFH) & 6 6 9 6 6 6 208
HLIY = 10 13 15 10 10 10 419
FA4YaR—/— b 30 30 39 30 30 30 1,001
a7 & 8,000 | 8,000 12,000] 8,000 8, 000 8,000 | 263, 832
4 m " 1,200 1,000 2,000] 1,200 1, 000 1,000 | 35,729
AT—2 x 2,000 2, 000
TA—HPRT—> 7N 3,000 | 3,000 3,000] 3,000 3, 000 99, 000
7 35 56 56 84 56 86 56 1,946
Z A5 (900) ® 100 100 150 100 100 100 3, 835
B AER & 30 30 30 30 630
{28 FRURAH 22 ] 600 600 600 600 12, 600
H=HA—T (BEShAL) & 30 30 30 30 30 30 963
B ZA—T HARTE % 1, 200 1,200 | 1,200] 1,200 1, 200 1,200 | 39,600
TUR— LB L = 1 1 1 1 1 32
Iok—)La—45— &l 1 1 1 1 1 32
IvR—ILLTUREYE #H 2 3 3 2 2 7 93
#HIL S AEER (K) = 2 2 3 2 2 2 64
ARTERE 1@ 2 2 3 2 38
HENLUBATU iR 2 2 3 1 2 2 65
By TR AL (KIK) = 2 2 2 2 2 2 66

S N Nof= = e
E_?J;)}jitl"fb(:ﬁ*—fnn)(‘l*ﬁ A 9 9 9 9 9 9 66
L yrR—/3— E<] 16 16
(1%g120-—)L) o—JL 192 192
L yrR—/3— 5] 5 5 10 5 5 155
(1%480—)L) a—JL 240 240 480 240 240 7, 440
TR iR 1 1 1 1 1 29
AETFUR iR 1 1 1 1 1 1 31
TSAR—+TUk () iE 3 3 3 3 3 3 99
TIAR—+TUR(K) iE 2 2 2 2 2 2 66
B EEEF = 2 2 3 3 3 2 69
1) hHh— = 2 2 3 1 2 2 61
LAFa1—Hh— = 1 1 1 1 1 1 32
B FEN 2 2 3 2 2 5 70
- FER = 3 3 3 3 3 96
&t T 2 2 2 32
==A
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IR

k4 Xt | EEH [AEBEH| SRt e | o s— &t
=i 3 3 4 3 3 3 100
IN=L 3 3 4 3 3 3 100
LED 8 8 8 128
a—Fky—JL 3 3 4 3 3 97
. IN—F— 1 1 2 1 1 33
’g '|\ f‘;ﬁ REH @ 2 1 2 2 1 1 41
FFT L | (TmGexs k) " 1 1 1 1 1 1 33
| A a—FkyY—JL 1 1 2 1 1 28
KTiH(12) &l 8 8
£ = 2 2 4 2 57
mEHLATL—+ =) 1 1 2 2 1 34
RELLOEYR = 1 1 1 1 1 1 34
LA PP & % 20,000 | 16,000 | 24,000 16,000 | 16,000 | 16,000 | 538, 000
E SO | a8 80 80 130 81 80 80 2,639
AV REE ) bin 10 10 10 10 10 320
Ao REE(100) & 1 1
FAIL(12) fin 2 1 2 1 1 1 36
T HARaVO & 20 20 30 20 20 20 680
arOfAERUA X 60 60 90 60 60 180 2,154
Btk #H 1 1 1 1 1 32
=fAm ® 100 100 150 100 100 100 3,370
am(1R10%) " 12 12
A (15840 &) *% 3 3 3 3 3 99
H—E&12%) ER 1 1 2 1 1 12 45
6L R 60 30 45 30 30 30 1, 060
FHASLD " 300 300 400 300 300 348 | 10,148
AKARBTD " 300 300 300 300 300 300 9, 900
HIERAA 1& 1,000 1,000 2,000]| 1,000 1, 000 1,000 | 35,000
{828 ze 4 4 4 4 4 3 134
RN EERS S 4 4 4 4 4 4 132
HEARNYR =) 7 5 10 5 5 195
AJLAYR & 16 16 16 16 16 15 527
BF s 100 50 150 50 50 50 1, 900
rI5—F% s 10 10 10 10 10 10 320
THEE< RS & 50 50 40 50 50 1 1,621
BhK—bk " 100 100 150 100 100 100 3,420
L2 1@ 5 5 6 5 5 5 167
Sy (Tt) = 1 1 1 1 1 32
v (4t) = 1 1 1 1 1 33
SHE T vy (2.5) =1 1 1 1 1 1 32
EXF—LUF T 1 1 1 1 1 1 33
N—JL X 5 5 8 5 5 5 170
2ayF X 5 5 8 5 5 5 170
DZEY (BFHHAK) N 3 3 5 3 3 3 101
DZEY (Frd=) N 2 2 3 2 2 2 67
RILRD s i— x 5 5 8 5 5 5 170
A—7(20m) x 10 10 15 10 10 10 341
A—7 (10m) A 10 10 15 10 10 10 341
FEE(HRER) & 2 2 3 2 2 2 68
INFR B (FRER) & 2 2 3 2 2 2 68
BH = 2 2 3 2 2 4 68
R =) 2 2 2 2 2 2 67
DIyhTava " 1, 260 1,260 1,260 1,260 1, 260 1,000 | 41,320
ARAA L " 3,660 3,660 | 3,660 3,660 3, 660 3,660 | 120, 780
JEEER 1@ 100 100 150 100 100 100 3, 490
FR—O—=X FEEss 1@ 10 10 10 10 10 10 330
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4 HEBAR
STE |48 =
k4 Xt | EEH [AEBEH| SRt 'f;,;ﬁlgﬂ 2_ &t

AT T—T 5 10 10 10 10 10 10 330
E-—L& 054 200 88 300 200 200 200 6, 529
E-—ILFH A 250 250 500 500 250 300 9, 500
E-—ILFH A 250 250 500 500 250 300 9, 500
i = 1 1 1 1 1 33
BiE (XHEKX) 1& 50 50 150 50 50 1, 800
BiE (XREX -RZT747) 1@ 50 50 50 1, 400
Ty (B-K-F-#) #H 20 20 30 20 20 680
hrT3 7. 0
KEFSZORESR A 10 10 8 8 10 286
cIJT—2R99 ® 150 180 150 150 150 4,830
TEEYr = 1 1 1 1 1 1 33
DIFYECGEEAREA) = 1 1 1 1 1 32
RyphrF— & 5 5 5 5 5 5 165
XIFERHEEBH(EB)00R) | 50 230
NREHRLANGEER (USBHRE-AC o ) ) ) ) ) ) L0z

THEITRED)
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49 FEUABHBFHRFEEEEORENE—ER

(FR304£10H 1 HELLE)

| xE - . A KiF FErTs
AEA sl dozo | 5L doLzom| mw | Ew | es—
pil ' WEIRN ¥R |(V7UXR)
v~ RIR RIR Bl | FERK | &8 | MBI KEFE | /hER
4-50-1 | 4-18-1 | 5-16-3 | 5-19-2 | 3-29-10| 3-30-6 | 4-50-1 | 2-16-15
& H25 H25 H25 H25 H25 H25 H25 H26
MES B

HhhoOZIFA B 123 324 816
AN B 108 243 123 195 180 123 324 816
7K 1.50 X 72 162 82 130 120 164 390 1088
T HARaVO & 2 4 3 3 3 4 11 16
RoR(@rO-FHEEA) | X 30 36 33 33 33 36 51 144
) 1@ 4 4 4 4 4 4 4
AKANBEBTD " 324 729 369 585 540 630
B2/ vk 75 450
AANAHLD(S) 34
RKARBLD (M) 34
AANAHTDL) 54
WP O>FELH 54 256
R—AT LML (NER) | &
EEZ 1l & 2 4 3 3 3 4 11 16
HHERL RAXRT7H # 100 100 100 100 100 100 100 400
kAL YRR—/8— ao—)L
HEE = 1 1 1 1 1 1 1 4
FERAA ML x 1 1 1 1 1 1 1 1
a—K1—JL =
LEDI®JtER =1 1 1 1 1 1 1 1 4
=EREE A B 54 121 61 97 90
=EREEB B 54 122 62 98 90
KERBSREYH #H 1 1 1 1 1 1 1 6
S+w7 (30 cm X 20m) & 5 5 5 5 5 5 5
5w (30 cm X 75m) 1& 20
EZX e 20 44 16 37 21 59 130 544
I7IYRLR 20 44 16 37 21 59 130 544
I7IYRLRBARYT 54 2 5 2 4 3 6 13 28
TILII Uk "
SEATYR "
HINANIILT S5k " 16 37 25 28 39 23 86
FYt=f=HKX Rk =) 3 3 3 3 3 3 3 12
274U " 60 60 60 60 60 60 60 600
Ry RT1v2 5] 15 15 15 15 15 15 15 60
Z A5 (900) ® 100 100 100 100 100 100 100 400
1= ELT (LED) & 2 2 2 2 2 2 2 8
243> (LED) a
ST% = 2 2 2 2 2 2 2 8
T EM (B 1) X
7Tt (8 3) PN 56 56 56 56 56 56 56 192
HYI=t=HKRYE A s s s s s s s L64
(109)
TRY 4 150 150 150 150 150 150 150 600
JLFHR(SML) 4 300 300 300 300 300 300 300 1, 200
AEs7 DIvki—bk " 300 300 300 300 300 300 300 1, 200
FiaESEA x 3 3 3 3 3 3 3 12
H£EAM ® 84 84 84 84 84 84 84 264
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4 [HEEBER
e | XE - - INE I KiF L
XEHEKZF X X _ ~
BE4 : FDED wLEDM| @i 12t o B—

HEYDMW[ 7 Bl FrEkARnEl wem | w2z W7o
EETEEE- B A 20 20 20 20 20 20 20 40
DIVhTaYa " 300 300 300 300 300 300 300 1, 200
LEtyk 4] 1 1 1 1 1 1 1 4
RN FEEH) 75
EHEBRAAN x 20

— = R AN 1
;}; YRMECHLSR % 150
Ah—ARE (KRER) 75 20
Ab—7HARE(EEH) 1& 5
—_— O 435S (A=

ﬁl)“ THAREGRER Jwh 170
AR
Hi—€ ® 900
4 SRt P 5
# P 50
A ENS 1& 5
B X 30
I ik— L L YR vk 10
2ITSAY =1 2
ERRX-AKS|25 = 2
L2272V 75 10
jEaZ8 = 2
374’\— F—F43 bk .
NS ANFESS (USB
wm-AcTHIaaL) | B : : : : : : 3 3
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4 fREERF

ﬁ%J.:;’_ Eﬁﬁ% H{g? Eﬁﬁ% %%% Eﬁﬁ% zs%zgﬁflﬁ% =5 &
. + & + & + & + & = e . o= =
BE4 BHEL | S0 | e s | ez | v | RUTR| 945 At
toa— | woa— | vos— | £rs— B | xm=H
_ MNEN mE | AEA | 5 A =P B |, _
PR it 5-11-8 | 2-22-9 | 2-28-31| 2-28-14 | 4-21-2 | 1-22-14| 1-9-21 BT 15M PR
& H27 H28 H28 H28 H29 H29 H29
MELA B

HhhoOZIEA B 50 100 100 150 78 39 1,780
B B 36 48 51 60 126 78 39 2, 550
JK 1.50 X 24 64 68 80 168 104 52 2,768
T HARaVO & 1 2 2 2 5 3 2 63
RoR(@rO-HEEA) | X 37 30 30 30 39 33 30 625
i 1& 4 32
AAEBTD " 108 3, 285
WHL Dk 75 450
RKANABLD(S) " 34 68 34 136
RKARBBLDM) " 60 90 60 210
RKARABLDWL) " 52 78 26 156
WP O>FELH 34 256
R—aT LU (NER) | & 1 1 1 1 1 5
G & 2 48
HHERL AXRT7H # 100 500 500 500 | 1,300 800 400 || 5, 200
rLykR—/8— a—JL 60 60 60 180
FE = 1 1 1 1 1 1 1 18
HEEAA ML x 1 1 1 1 1 1 1 15
a—kyY—JL = 1 1 1 1 1 1 6
LEDI® L3R = 1 1 1 1 1 1 17
=EREE A B 12 435
=EREEB B 12 438
KERBSREYH #H 1 1 15
57 (30 cm X 20m) & 5 15 15 15 85
5w (30 cm X 75m) 1& 20
EX e 8 32 34 40 84 52 26| 1,147
I7IYRLR 8 16 17 20 42 26 13| 1,013
I7IYRLRBARYT 54 1 2 2 2 4 3 2 79
TILII Uk " 16 26 13 55
AEATIR " 16 26 13 55
BNV T Sk " 4 32 34 40 84 52 26 526
WY =H#K vk = 3 36
27 )L " 60 80 120 60 1, 340
R IRTava 4] 15 15 15 15 225
Z A5 (900) 4 100 100 100 100 100 100 100 | 1,800
1= ELT (LED) 1@ 2 5 5 5 5 5 5 54
Z2432 (LED) = 3 3 3 3 3 3 18
V% =1 2 2 2 2 2 2 2 36
T (B 1) w 28 28 28 28 28 28 168
75t (8 3) P 56 56 56 56 56 56 56 976
HYt=t=HKRYE A s - - - - - - 934
(109)
TRY 54 150 150 150 150 || 2,250
JLFHR(SML) ® 300 300 300 300 | 4,500
apEsr7 I yb—bk " 300 300 300 300 | 4,500
FiaESEA x 3 3 3 3 45
H£EAM ® 84 36 36 56 56 56 1,176
[EfE T A B 4 20 40 40 40 100 30 20 470
DIvhTava " 300 1, 000 1,000| 1,000 6,600
Latyk 8 1 1 1 1 15
R (F.EFH) " 15 15 15 15 15 15 90
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4 [HEEBER
RESE | BISE | 2258 | XS5 =5 B
. EEE EEE | BEE BEE | -, D -
BE4 BEL | 700 Ve x | veex | b= ﬁ?g?w Xz«;ﬂ At
tos— | woa— | vos— | £ra— -
EHABRAAN X 20
—_ = R AN 1

;I)* annﬁ(/ﬁﬂ:% *& 150
A—vHARR(RER) | & 20
AR—7ARE(ISH) 1& o
él“——zﬁﬁlrll:ll:§0ﬁ7%ﬁﬁ /f“j'? 170
ﬂﬂ)
H—+t 75 900
4 58t X o
# X 50
IGEEE R 1& 5
B X 30
I ik— L LYk yk 10
*I54Y a 2
ERRX-AKS|2S = 2
L2272V 75 10
jaZ8 = 2
Z"%/r/\‘—h/i’—v‘-»r*‘/a ok 5
NS ANFESS (USB a ) ’

HE-ACTHTHETL)

B —157—



4 fREERF

5550 RN - LRMEFHRIFEEEEOHKRENE —EX
(CERE304E10H 1 A BAE)

MEFE | 85FE | R¥EFE | BXAXF =
LTS zrxe | mmxe | x2 | x2 | FF
_ KiE INEF 4B E= - _
Pz 1-5-2 1-26-13 1-26-3 2-8-1 BF AR
MEH BT
MSILY (EE) w 1, 960 1, 960 1, 960 1, 960 7, 840
é%;f:ﬁjr)t B N 672 672 672 672 2, 688
TLILX =8I
(TL ;i 9)4:713—5175) ¥ 90 90 90 90 360
7K 1.52 PN 1, 140 1, 140 1, 140 1, 140 4, 560
—H+tvk tyk 480 480 480 480 1, 920
BT DOFHERA) 754 816 816 816 816 3, 264
HBLD(SHAX) 754 868 868 868 868 3, 472
HBELDODMHAX) 754 850 850 850 850 3, 400
BLYAE ® 5, 040 5, 040 5, 040 5, 040 20, 160
DrybTavia " 6, 400 6, 400 6, 400 6, 400 25, 600
ELHR & 80 80 80 80 320
pARK:T K 10 10 10 10 40
E=H W 160 160 160 160 640
I7<Uk 54 160 160 160 160 640
#a/KZ(30) 754 160 160 160 160 640
Ltk & 8 8 8 8 32
NiEEvk A bk 5 5 5 5 20
NE—y (1 %)
BRI —y (1 %)
TARRER (1 @)
H—tE (10#)
FvbiE (10 #0)
BRIy (2 @)
F=H (1 &)
FMFRE (X
TARARADY (1 8)
TARREE (1 40)
Sty B tyk 5 5 5 5] 20
RKAABTLD 2#)
FHoybM (10 %)
AHoubL 58)
AEAFTXFUORRA (11 #)
SHEBFITXULERA (40 )
FILa—ILEE (258/)
FERANE (R-FHE 2%
B (50 )
INREAIL (1 8)
TIAREFIL (1)
A (1 R)
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MEZE | E8#FE | KFEXE | BALTF =
e w7k | mgxe | k2 g S

MEZFE A bk 1 1 1 1 4

EKEEIDT—TIL (5K)

BRAT—TIL (6 &)

ALY A (5 1E)

TIL3—ILESE (1K)

WEILFE (100 W)

WEA—E (100 W)

IFE#& (1 RK)

R7T7—7 (2X)

S=AIE (2 @)

BELMETTRY (5 58)

97 (5 K)

FILa—)LER (5%8)
MELHRE B +yk 1 1 1 1 4

#wiRtvr 5tk

EAERMNERF2—T (BA)

BIRFES (5 A)

S$HEERAT—7 (35%)

sHTESER (B X)

fBiE (5 K)

vy (5K)
REE = 1 1 1 1 4
FRE2s =) 1 1 1 1 4
MmEET = 1 1 1 1 4
KBET x 1 1 1 1 4
Ap— X 1 1 1 1 4
BERNT5— = 1 1 1 1 4
TUEa—n\wO(BRAR-FHERR) =) 1 1 1 1 4
[i-E 37 2N N 1 1 1 1 4
RURZEE =) 1 1 1 1 4
BEF & 1 1 1 1 4
BRI RY Tk 1 1 1 1 4

AR (5@

FERA GE)
EH|% +yk 1 1 1 L 4

F = U LE 1

Bk FA R

FaEIRH MRS FRHE

RERAIAEH

S 1EIe AR

SHEH
STUXATA K 3 3 3 3 12
B x 100 100 100 100 400
PhA & 16
eSS & 4 4 16
htvbkarno = 8 8 8 8 32
AR cA] 2] SAIZaN X 96 96 96 96 384
i & 1, 600 1, 600 1, 600 1, 600 6, 400
TA—HYRT—> VN 500 500 500 500 2, 000
R—/\—4F)L AV 15 15 15 15 60
I=£8(908) 754 50 50 50 50 200
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HRZE | E%FE | REFE | AT -

LTS zrky | mmke | A% K il
TS4%(450) 754 100 100 100 100 400
B ERR%EH N 5 5 5 5 20
& bk 160 160 160 160 640
4 IR AN (2 #H) tyk 80 80 80 80 320
giiﬁmmﬁlﬁ%& (USB#AE-ACTH T4 @ 5 5 5 5 o
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51 ER - HBhESHEERARKER

(FRE304£10H 1 HEILE)

— . TR B R
B E % AT ﬁi*ﬂz)g é}b‘ll'\)/ x(]‘J}'j) Etﬁ)gE (&) (f@) /\(1%);
ERESRERE | HN-THUE 2R 50 10 10 6 5 3 2
REELERE |59 T B12E65 50 4 8 2 5 3 2
AELERERE AL TELIRT & 50 5 18 5 6 4 4
BIAE R B | ABDA T H28%18% 10 10 20 6 10 2 4
INA)IREB BB | =TH3®L S| 1,200 20 147 12 5 0 3
ARBHEBIE A | ABETHE 1HLLE | 1,800 13 102 7 5 0 4
3t 3, 160 62| 305 38 36 12 19

5§52 CHMFIEERABEESRM (MAN - X)) HEREKRR
(CERE304E10H 1 A BAE)

h % ] = A £ 5 =
FHZE 20 FH | BihEl 0 f#
=M 2,500 & | RAMHAIE 100 43
BT 73 A 50 fIE | BEARE]T 500 A

Hh 1,000 f& | E55J] 47 T
Rz Hy

/N 1,000 fiE | 4R{HEYAR &5 110 &
W —1 3,000 2 | #E1T A (K V4272009 bY) 16 &
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$53 KEFAERESZMORANRE
1 KERERESEHEY
(1) £y b 1HREREH 117
(2) BiRE% 3348
(3) REHA

O BEHEFT L A 2540
@ XHMBAEENE X —FERE (INHEM2 —16—15) 8

2 Rty k
(1) £y F1#ERBSHEH 60
(2) BE{EHA% 34

(3) &REHM
iy s —fEEE X — (FA1—-16—21) 3
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5§54 KMRREESRM—ER

4

REER

CERE304E10H 1 HBLE)

8 % "l w fﬁﬁi RCE | GTRN | TEK | ER | s
o - TREER | KBHEE | TR | EMES
EROEE- ¥ | 480mm X 620mm 5, 400 0 1, 000 4, 000 5,000 | 15,400
ror—7 2% | 9mm X 200m 5 0 2 2 0 9
B R ke | 2. 8mm X 25kg 1 0 2 1 0 4
&7 ke | 9em  4ke 0 1 2 0 0 3
&7 ke | 15cm 4ke 0 1 2 0 0 3
Ay T | kA= 5 25 30 86 0 146
Ay T | AA= 50 86 35 192 0 363
Ay T | fR= 20 145 30 189 0 384
7 T 5 0 4 5 0 14
RO E! Z 3 2 2 2 0 9
25 L T 2 10 38 44 0 94
HEAKAR T e 0 0 0 0 2
SP/SA L PN 350 400 275 0 0 1,025
M= T 1 8 7 14 0 30
DZED T 3 0 3 2 0 8
R F T 5 0 4 0 0 9
i T 2 0 4 3 0 9
IN— L PN 6 0 8 1 0 15
IA XY —T1 v H— T 2 0 0 1 0 3
L o T 5 0 5 0 0 10
FADd T 20 0 56 13 0 89
. . T — 2.7m 8 0 0 0 0 8
E=—t—h B o m
. . ZL—  3.6m 10 0 2 2 0 14
E=—t—h B s am
- B ek % 50 10 60 50 0 170
A= T 0 2 0 0 3
YAt v 7 13 0 547 30 70 300 947
AR ) =BT = 0 23 0 0 0 23
PR 7 & 71k 6 0 0 0 0 6
R A 60 20 50 40 0 170
KNy ~<— T 2 2 1 0 6
F & M| EF 360 0 120 24 0 504
. HFE BV 36 0 0 0 0 36
T R P bt x)
SN P 20 0 0 0 0 20
KoX—)u T 0 0 2 0 0 2
B " 5 0 0 0 1 6
TR =) 5 0 0 0 1 6
Pt T | | EE 0 0 17 0 0 17
o7 TN | | ATE 0 0 7 0 0 7
BT T |l | BHESR—Z 0 0 18 0 0 18
B > 2 — " 0 0 2 0 0 2
Sekgk <A L A 0 0 20 0 0 20
JE e 0 30 0 0 0 30
Ho K ZN 0 30 0 0 0 30
a7 —hRE 1] 0 15 0 0 0 15
KR B | EE 5 0 0 0 0 5
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55 KEWREKRALD S HFEB—ER

(FR304£10H 1 HELLE)

A

No. & B & P R¥ & &
1 | EA—TH23 GLF)IHE A 548) 80| o rF— a3
2 | BEBR—TH21 GEKRELS T 80| o 2F—a
3 | BER—THI8 GmitEs~E Fik) 80| o 2F— 3
4 | BEAa—THI8 (5L - Lk 80| Lo 2F— 3
5 | AKETHS (AYUMEARETIRIAN) 80| o rF—a
6 |/KEZTHI UMHELR R 80| twH AT — g
7 | KETHS3 (LR THALAN) 80| o 2F— 3
8 | BEE T HI6 CHrFEEAEL R L) 160 | 095 2F—3 3
9 | ®ETHSI3 (FEEEMLRE TR 160 | 095 2F—3 3
10 | #%EE T H3 (EEEAR Tt 80| tDHI AT —va v
11 | #®E-TH1 (ZRERSERET) 80| o rF—a
12 | KEWTHE?2 @AEmpiaidag) 160 | LD H AT — 9
13 [ /NAJNET B4l (RBREESUR: D) 80| o 2F— 3
14 | #%E—THS (NaJIESN) 300 | fagEd v (BT A8 B)
15 | REE—TH17T OVEES - EEERN) 70 | figEdH v (RTEER)
16 | HRE T H27 (ERELE T EHP) 300 | fagEd v (BT A8 B)
17 | ABBAN T B35 (95 fEak28) 160 | t»H 2F— 9
18 | HM—THI8 (B#HEEAET) 80| oo 2F—a
19 | EP—TH19 (BAAAaARD 80| twH AT — g
20 | EW—TH23 (GB— B RE FTA) 80| tDHAF— g
21 | FP—TH23 (0 =T HARA) 80| o 2F— 3
22 | TEBERZTH1 (TBRRZT HASER) 80

23 | ABHA T H36 (A20E Y Ax5H) 80| twH AT — 3
24 | REDBANT H40 GEI TR ZERANE) 240 | D H AT —v 3 v
25 | TBAR=TH48 CGEMEIL FAZERAIE) 80| twH AT —v g
26 | TBAR="T37 (HIFI T2 EmHE) 80| tDHAT—a v
27T | BPEMEE S 1, 000

28 | TBAR T AGERT 300

29 | vEv X —HITF 3R 80
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